R

Python I 5 NI 37 32 4 2% 1 AR B 12 B0 A PR e R AU E 4 s AT 2 AT 4k
9T AR S B PR 2 A 7 A8 B A TR i R A AT T R B R R, B AR O
Ao SR A o] IR SE AT A RE I TR AR DR A A AR 3 b B B A T R,k 46 R
7S T AV SR R A 2 > Y ) R

AEFEHNE.

Wi &8 Fey LM, IR B E o FF AL

M for #= while 7AER &M, FNE % & HB4E . B IF 92 7 ik
W A Ae 5 R AT, 52 L B AR 3 R AL R D,

3.1 if & Af

3.1.1 [ HE

ROATE S U U S U - = R (o A G R < A D i N 7 o S O [
L S A — S TRk FURE A /MR A, W ST RLFRATT 2 ) BTAR A9 22, AT BRI
Be B B9 55 v I S e BT AL PR A B S A 5%, A — A S 55 e S AR B X
Aty E IR AT IE R RO RE . XTSRS AT L2 5 KA 2~ M52 B AR TE A A4 ] DB
S M TIRELR R B AR R LR — R B A — o 1T RE T A AR B AE
Wg7 45N ok, FRATTHE A% o Al e A Af 3 ) R LE T SRR O 28— R A TR SR AT 2 i SR
FW

i ) SRR 2 AR D T T R e A 1 45 R TR Y R R A Al (O R 2R PR D . i i)
R 26 1 22 6 5 22 B0 295 SRANCHS B 9% D AT AT A A
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3.1.2 if iEheAc gk

1. MRS ZIER

o L ) S BP0 S 6 2 R P T T B0 G e 2 P
GRED R0 IO 2000 D05 0 1P AT B 15 8 5 T P 8 2 4 o A 0 48
(o S IRk B TR 2 L R A IR M

A7 L S 8 0 S T

if  Ffhkakat:

15 e

4T A3 D B T Sk L TR A P A R 2 P 23K R T A A
R S TR 7 5 T

S R 4% P B 26 P B BT AT L T LR 7 06— 4 A T L
TR )« H T R A B 5 1 5 PSR S5 B 2 2 A Ak 3

T WY M 26 P 2 3 27 s R A B
WS HUT 1 AR B M6 T 18 Python i 2 BN 645
GREAL T, B 4 A7 R R G (LR 2 7
2. 1.1 /NS 48 kR R AR IS o) | Lime

161 T3 17 50 1 004 388 AT L Python 28 2
FRLA 46 P K 20 035 50 2 SR AT U, 0 AR P ik |
SN Troe(EL/ M) TR 2 BT A He . 150 26 1
Fik MY False (/RS I 4 38 ] HOR 20 l
7, A 3.1 s,

S o 5 2 TT LR 900 06 3R 2 i 50 s LT LR A
ZR e R TR B LB — N AR A2 888 (True 5% False) .

P31 g S A AR

if True:
print ("HRYE A FR B, RS FEFIR")

T PR 5 8 S0 IR0 6 P A S 20 C T B 1 o 8 B8 BT
TEL50 A5 B4 Y K 3R A 30 > 07 AT I 9 S O 1 A AR A2 B MO (5 0
SIE 5 2R 35 FA U 2 (LRSI 70T 3 58 4 3702 U RS 8 0 i e
ARCR L BRI A B T 55 BT AT 05 9T % K G 8 25 22 40 24 ) i
MREAMIREZ —. WIEHG G ARG, 2557 2 LIRES B 218% 7 % K
F S i 2605 H AR LR Python D . W TR 5 Ak R

4 8332 0 SR OK 4 225 S 0 oo TG 4B 832854 0 157
ot A 1 B 25 RAEEE 6O 4L b 040t Bk B £ .

score = 60

if score>=60:

print("K&A%")



SR Rk

2. WHXiEA
W43 S ) HR i 2% 10 28 0k 3 Y (8 $2 400 T A ol n)
A TR R B4R A 8 58 X T B AR A T AL AS ST B AR
4, K 3.2 iR,
Moy iE A IEERIE U F .
if SEEER
WA 1
else:
i 2 l
T AT R 43 370 A R ) I A A R S R A M
K RFEET 60 B4 -« ks 1 fE B, /T 60 401
BN RAEHIE B

FEREIES

3.2 WU SEA AR

score = 56

if score>=60:
print("KHE")

else:

print("A K HE")
S e

3. ENEHFHEIER
ZAZR AR A BRI T
if PRk
AR 1
elif SRMFRIAA 2
A 2

else:

AR 3

FEZAZ A FIWTIE AT P Y A b 50 1 S i BRAT B A e 1 B AR A L 75 T 4k 22 1)
Wi 25 A Rk 20 2, SR A Rk 20 2 o AT iR Ak 25 MR A 1 A& &k
2 WA ST HATIE MR 3 NS, A IBEMHETENE: BN &0EAR)ETH
B E ST AR AT RO A e DL 4 O A X B, MR R A e IR) R T R
elif I else AT LA R % P47 24 A FH ot o] A28 W 3 19 A 350 0 19 1N 285 5 A ol o 135 A %) 2R 4
A,

£ Python 155 5 . elif J& elseif (445 i i o 28 7 45 D) G SR oy 22 S8, o ot 2% 0k 282 ) W 4%
PR 2 R A, “else: "IETHMIE AL 3 Fom . MAEMREA 1 MEMHRSENX 2
HBAS S L AT I A 3 BRI 3. 3 BTN

Z A G5 W ) AT DA e AR 3 v B 0 4% Il . AR 2 AR LS4 TR B
PEA .70 20 RL B MR R FETF 60 433 EHLAE 70 0 LU R M KA%”
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True @ False

if g

3.3 ZAFAF RN AT U AR

score = float (input ("#i AR RS "))
if score>=70:
print ("R")
elif score>=60:
print ("KAE")
else:
print (" KAE")
T E TR s AT R i A =4 DA B i IRl - 40 $O7E 60 43 LR L60~70 43,70 43
10
4. FRAS dif TEZERSGITNERS
TESE B TAE R, FRATT 38 31 (Y (] 80 52 2% , b BED 55 B 75 82 40 B 000 W 14 22 3 2R R &2,
DL A B AN S B8] S (B W 2 A Bt R 7 A o 3 i B 22 (R PE AN BIL TR A BE % 0 1 S5z
B2z AR LS IR o FRATT TR BEX 2 AR Y B S T R T R AT S8 S UG B, (i 2 A A PR
(61 3.11 ffHZA elif k5EHX %45 WS ITAH .
= HE A B A B, T AT AR R B 4
score = float(input("iFh A4 NS : "))
if score>=90 and score<=100:
print ("{EF5")
elif score<90 and score>=280:
print ('R#")
elif score<80 and score>=70:
print ('Hi4E")
elif score<70 and score>=60:
print ('S#%")
else:
print ("AKA")
B3 B . FEA G AT T 24 elif A3 T 25 04 0 Wr , X T & Y ) SR BT
53 FIR A HEAT 4 B8 DX ) 0 0 T . SR A e 0 okt A TR Sy 0 DRI 4% 14 0 AN 5 BT T T A 1 Al iR
R & A .



3.1.3  FL{EIA

£ if B while H A SRR AT REN True i False, fE 45 Ui 72 % il )
AR TNy VR i i S U SN W N R [

7E Python i & X6 FHER M AT AR 2 B X &2, HH R H L3R [F{E A True,

X FEE 0.0, 0,05 & XL (BHEZE 745 .[ ], O, {},None,False,set() ,range(0))
FAE R IR WIE Y False.

Bool O PR EL AT LAIR 1% 42 i A5 /R . True(FL) 8L False () . 40 .

>>> bool([]),bool(()),bool({}) # 3R [0 55 (9 51 & oo 4l s = M A R (A
4k

(False, False, False)

>>> bool("") # 3R (8] 55 245 B 1 A R (B
25

False

>>> bool(0) #R W (E 0 A AR IR (E

?%% : False

KT HMM, 2 3.1 RIS 3.2 43 Hh 18 LAY 5C 2208 549 Al A ) i B0 A4 1 B D00 3k
ol w2 A S M AT R h 2%
®3.1 XREHEAFHEEUK

iz B iR [l 7N 4l
>>> x =3 >>> chl ="p"
>>> y=2 >>> ch2 ="p"
Sy . S
== I ay, Fals
P rue o False S>> x ==y >>> chl == ch2
False True
§ >>> 3> 2 >>>2>5
> (KT True 5% False
True False
>>>5<10 >>> 'a'<'b!'
< UM T % Fal True True
/N [ S
rue ame >>>5<3 >>> 'c'<'a’
False False
N >>>3>=0 >>>3>=6
>= (K%T) True 8 False
True False
>>>5<=6
True >>>5<=3
= (N5 T f, Fals
== UhET rue o False >>>5<=5 False
True
. >>> 31=2 >>> 21=2
=T True 5 False
True False

75
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*3.2 HRZEFHEENRK

& B woo@
>>> x = True >>>x=3>2
and (4157 xand y IR x My & 8 E, 5t >>> y = True >>>y=3>5
EH >>> x and y >>> x and y
True False
>>> x = True >>> x = False
>>> y = False >>> y = True
or (“m™ xory W xmy HH.FHEEH
>>> X or y >>>x ory
True True

. . >>> x = False
not x ISR x MR IR ELE H
not (“JE”) >>> not x

not x AR x Ry B AR

True

>>> x = True
>>> not x

False

3.1.4 if else —o#EA

Python iff & 4 H T HFBR 119 = J02 6 2 76 482 SEI P T ISR F else R i F AR 1) 15
H,if else =onRBAXMEILEN

FAF N EATR SR if FIWTRI SR else M4 BT AY 45

T UG . G SR Y 45 1 2 A O L L AT R A B AR D LR R A5 AR
TS B 7 S5 1 R AR i else JETHTAG PZS L B SR A R BB B ZE AL R TE LUK
F AT,

(61 3.2  © AN E00 B e A8 & x Iy 3K A 0P B o R B i e A
2,

x,y=3,5 #MHITHR FEGER x Ty 3 5 AE Dy 3 Fil s

if x>vy:

else:

z=y

print (£"{x} M {y}Z [F] 1B RKEOE{z}")

SR 3 M5 Z R RR 5

(61 3.3 ffifH] =Jokik 0 3. 2 fARAS AT L AL

= BRI BOI AT O S A x Ay, 8 P A b B e R B e 28 1 2 o

x=3

y=5

z=x if (x>y) elsey Hif else =JLE K
print (z) EX TR TN QI ]

%%:5



[613.4] AW — RO L

x=3

print (£"{x} Z2ME" if (x%2==0) else f"{x}AEMWE")

R 3 A%

NG AL else ATRARRAR = ek, S0 = ou KRR X T AE . s % 7 AL AL A% 19 13
B AE AR X T B A5 A 0 rh T DAL AR S A B AR . X )2 Python i F AR
& 77,

3.2 for i f

for MR IE ] R R for TG LEH . 78 Python 15 H . 38 1 i J7 0998 X35 I AT 4] 45 )
(7 51 % G N I TE 3R R S B B PAT 45 58 OB B A . E Ao D A | B R e A L
SR B (R A5 RO X R . R T BR O R E Y E A R AT AT AGE A for AR SEEL. for
A T 22 M T — SR I 0 R 0 3R Bl R 0k U 1R B A Rk R 5

3.2.1 for TEAIEAKE X

for 53 1Y) FEA T N
for <MKfE HAr/BFr> in <] EERXF4>:
<i& A P>
WU . for EIRTEA) M B A7 2 ST KA AY H AR Ak D (U5 TR i a0 4. B 5 05
MG AR EEEATHIE A, ERM UG ERERS . FAE IR TH . F
M EEHE for AR BERWE 3.4 Fix,

False

MA{ELAY EL bR in n] ik fURE 4R

RO S

3.4 for ¥ Y i F2 &

77
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£ Python ifi 5 ", for 38 X RN EAUIEER , 217 3] for JEIR I, Python fift B # 2 &
AR TR AN G I T R A 4 F AR AR5 D9 R G R SAT I ER IR AT . R R A B DU fi
FHIRAEL F A5k 51 AT & AW R S AT AT R, B 3 1 58 il ik AT R AT A e R . T
Fg T BARE 7k

[%13.51 for fE¥F4N R 2 FAT R EE 3 K.

for i in range(3):

print ("HiYEF HE K TR F EE AT
gER

kT wE e

Bk EENE O

B EER O

5347« range(3) KIS AE U AT EACH TS, B 0.1, 2 HK, —3H =4HI8 & for
WA E T WA Y H AR AE & 1, Python fif B4 F 20 76 & UCUE R HIHE AT 3% 48F 91 19 00 &R AR IR
388 25 WA 1Y H AR AR 2, IR R A7 0 5 i 8 AR B 0 3 B 1 245 SR T R A AT 90 B i ) B
B 3.5 W FENE PRV ) b AR BEA B 1 AR (B AT SRR A 0,1, 2 BT —
T = ER GRS

(51 3.6) for F IR T 45 .

strl = "'123"
for ch in strl:

print(ch)
4
1

2
3

GRS ch A E B AR ARH T30 D5 A7 8 “ 1237 9 AT A9 ] LABE % ch 9 {8
WO FAF R sLilfE . 1 R BUETEE 9 0.1.2) B3 Hrinsk 3.3 fox.

*3.3 Bl3.6tor ERBHEFRBRSH

IRV TRAH H AR ch #E 1 ¥R iE AT B print(ch)
1 1 . 1
2 2! Wi 2
3 '3 Wi 3

(5 3.7 for ff¥hkE I 5 =X 4 .

listl=1(['1",'2",'3"]
for n in listl:

print(n)

SR



1
2
3

(%1 3.8 for fE¥hlE I 51 09 73 Sb—FhJT ik .

for i in range(len(listl)):
print (listl[i])

45

1
2
3

B3 By« 38 L3 D) range O PRECAE B 0 AT LA 2o 17 5] 81 3R 09 K 515 81 3R
HATLER . RO lenO BRET S £ listl JTLR BT S, it s R IERN
rangeO) BREALMI S HL . LEBUT 1 0.1,2 3 415 A R4 % 12 510 22 1 & 515« B ik ) DL 5[]
SN FRE G5 1 77 Xt FI R A2 A TC R . BB IR B A2 SEA AT 0 i ) S g SR i )
T HEA TR RGN, % R 5155 kR e 2RI R TR,

[513.91 WipkisRPHITR.

listl=['1",'2",'3"]

for i in range(len(listl) -1, -1, —1):

print(list1[i])

5

3
2
1

3.2.2 4wt

TE 2 PRS2 B O 108 2 5 R AR B R 3 L A O e N RO T AR BRI A Y o
. Python ih F &4t 7 248 & IR A7 7 GEAO B 5k . 34 AT LLUe a8 BRI R )5
T8 J5 22 1) 9 R S B b 2 2T (T

(6] 3. 101 X7 g d R BEAT R A0, B b 7 S A B (ELAS R

word_dict = {"if": "Z&fF", "for": "HEARMEIR", "while": "S{FIEIR")

for word, explain in word_dict. items():

print (word, "R ", explain)
4k
if #omo &M

for Fm  BHEAUHEIR
while /R VG HF

BRI A s T MR R B items O 7 2 10 0] A9 2 - M 09 B E0 20 & 008 X 2, SRR O 7 SR
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BIXT G, o AT 26 A B 2 A, i ok i P 22 A48 s 2k AR O 20, A i b LU 5 44 word I
explain 7k A28 B A P26 42, 92BN word_dict 3L XF 42 (0 7 U (B A5 B H
(6] 3.111 fi i ZHEuA 578 MHEE,
p=1[0,0,1,1]
q=1[0,1,1,0]

for m,n in zip(p, q):
print (f"{m}& {m} = {m & n}")

45

0&0=0

0&0=0

1&1=1

1&1=0

BRI AT« A b T 2ip O SR BOHE AT AR KT G p Al g fE B8 7E Python 3 hN T
W A 2ip O 3R [ — > 1T ZE AR 156 52 1 TE 4 b BB 26 (A5 Bk T ) L e bk P B 48 76 AL
HEAT e PO BB T BB T 1 PR Zip O 3 1 5 5 5 6 e 31 26 M 5 47 25 7

>>> print(zip(p, q)) o E W zip() BREUR [T X R, R0 SR HAEE R
< zip object at 0x000002216BE67200 >
>>> list(zip(p, q)) # R RN R G, ] AR RO AR

[(0, 0), (0, 1), (1, 1), (1, 0)]

T LR 5. 11 A X 52 B4R o3 5 1 0 2 (8 DA 002 5T e
3.2.3 break fil continue i&H)

AT B for IR AR H A RGP VR BB Python 3B T IR T HAN = S0E F AR A,
5] AT break Fll continue &4, 45 & if EAMATME T . AT 5 WG 3 534 Bk 95 34 18 4y B,
YREE AT .
for 1547 ) T BB LA AT
for <M{H HAR/HEFF> in <Xf4>:
<EAHL 1>
If <% >: break
if  <%fF>: continue

else:

<igmjHe 2>
[ 3.12) i for iIEHR]F continue 1B LA FILE W L EINRE.

alst=[1,2,1,2,3,4,5,1]

blst =[]
for n in alst:
if n in blst: #ILR n 7R3 blst B
continue # Bk it 1 R A B, Ak 22 BAT IR 2R

blst. append(n)
print (blst)



